SR E RBIRE R P FRRE R B R KKBERE EALR 25 FREHRT—IL #8: SMETR158
<BF>
EES & (K4 S8R & (K4 S8R B | K4 S8R & (K4 S8R & K4 FOER B | K4 S8R
AT e S i |FrfE |#=|lEE i [FiE |#=|lEE i [FrfE |#=|lEE i & B i [ |z=|iEE
400m ; xE BE 545226091
BAARL—|  [FSAE| 3| BHIS _ _ _ _
200m 1 ERNEHE 253155061 9 wBE 24 25317042 3 EEEE 253295024 4 s B 257317064 5 HE B 24338%062 6 EK BAE 253417039
ElzZ myESE[h3] BHiF R ERE[R3] BHig EoEEmh] BHIS S E 3 G aE R E AR
100m ] S 59%)37 9 il & 15303%)85 3 BTH & 15307F99 4 R X 19125031 5 EARE} 14318019 6 A HER 143237082
NBI54 e E— 3] BHIE FEIEE— 3] BHIE {FPIEFIE 3| B mYEFE 1 R ASE P |3 {FPIAE = |3
100m | Em B 1408%)07 ) lum Bk 153107066 3 ERIHE 153155006 4 EAFHEM 153 15%024 5 E2 EH 143 16¥083 6 BAR =X 153 19%001
HikE FPIEFRIE[h3| B fFPEgEm(hs] B mYEFE[h3] BHi5 Y EZEH3 FPASE— 3 {FPUAE = |ch2
100m ; HE =E 143168020 9 Eig BE 143168055 4 KE #BE 143198099 4 HE B 15322031 5 TS 14328016 6 ELEER 14333%091
Tk FPIAE=ho| BHIS {FPUAFRYE R3] BB R ER (3] BHS PORER [dh2 {FPAE = [dh3 s E 3
1 gl & 26%075 9 INRR RER 277019 3 BETH & 28%016 4 Wi Bm 28%065 5 TEHRZE 287168 6 R BX 28%078
50m myEFE[h2| EHip FBIsHREf2| BHiE FBIsFRE[hs| S FosE=[hs] BHi5 FousEmhs] BHiE FomE=[d1] BH5 |
=zz§iz 7 BE EA 28%084 | 8 [iAHEM 287088 | 9 |AREMKE} 287099 | 101k % 20%7b48 | 11 |FR —i8 207053 |12 |ERRREL 29F072
FBIEE=[do| BHIZ mYEFE[H3] BEH5 frEEsEE 3] BHIE frEEsEE 3] BHIE R EME[R3] BHiE B Em[h3] BHIE |
13 ZHEEKER 208092 |14 (lLO #5H 30%002
FoEHTE ch2| BHIS poEnsE|dr| B
1500m ] BEH EA 2045»02F108 9 RiR 18 2153145087
ElzZ ERER |3 BHiE (PRSI ch2| BHIS _ _
200m 1 Eif BE 24332005 9 EEJEE 25345047 4 HE OB 25345096 4 AKX BE 245)58F074 5 EBE B 34332F025
BAARL—|  [FSBFRIE[h3] B FoEEm | B PORER [do| BH 1% E A RS — 3 _ I
1 alll & 58%)35 9 INRR RER 14>00%)'58 3 BE B4 15302F)35 4 dE EA 15302F174 5 TERAMZE 143037008 6 R BX 19304F027
100m mYEFE 2| BB (PRSI ch2| BHIS R EHE[RI] BHE {FREE=cho| BHIS FousE[chs] BHIS FouEE=h1] BHIE |
=)zz§iz 7 AR M s 15045064 | 8 |k —J& 19057086 | 9 [1EfE % 143058093 | 10 [#a4F Bk 143055098
(P gEEch3] BHIS R ERE[p3] Btig (g gEEch3] BHIS FoiEE=h3] BHIS
400m 1 BEH EA 5418088 ) L REZE 553347046 4 FIEES 54350%066
ElEZ iR ER (3] Biig iR ER (3] Btig FoEEmh] BHIS
200m 1 EESE 255087017 9 a1 E 253227065 4 R X 253485064
INRTS5A {FeiagE—|h3| BHIB {FaiagE—|h3] BB myEEEG1| BHIS _
200m ] Em B 25323177 9 lim Bk 25330065 5 EE B8 25240045 4 BA IRE 252495034 5 AHE K 35145042 6 EJNE 352405026
EikE (PRSI ch3| BHIS {FREEm chy] BHIS {FREE—ch3| BHIS RS = | ch2 R ER (P2 R ER [P
200m | xE BE 24>38%197 9 HE =E 247487188 4 KiF HE 24355035 s il BX 35218092 5 FK R 3536F)52 6 HE W3 352515009
FikE FoEEm s BHIS FoiEE=[ho| BHIS iR ER (3] Bitig FREE=]h3 e o=y Gkl
BTEH & |4502%63 ER BK | 4917873 B HRE | 49208044 =E B8 | 49287098 WO #&E | 4538%037 B M | 49417023
400m : IR HK|FRIE P Bk E£8 |g= 4 atE & |E— 4 e BE |ER 5 BH BAX |hTE 6 T ERS
JL— Eif BE B Hi5 mE EA B Hi5 EE BN BEHi5 BA B 2% &3 KiF HE
ik B mi Bl #E HE TEARZE FHREAL HE EA
i BiE | 49208014 EB BH [49468065 BA BE | 49547002 EHIU BEZE | 55058031 RE RB | 55 13%011 Alim B | 5918%054
400m : Ef BE |FiE 2 atE & |E— 4 BE =F = 4 AiF BE |EH 5 xE B8 B8 6 =H BN |Em
ARL—1L— BETH & B H15 S B Hi5 TR X 1B Hi5 BE EA EEES EARE
NP HE FE WA B HE SH | TEAAE _ =2 HE
BrHa-8a] 1 I IE 58 5 2 EX5] 4255 3 5— 398 X EfIsfrFE T RAERZERENRERESHIG, -EFLIR1EEHIRET




STTTEE R P 2R A BT RS KKBRERE EALFE 25 FREHRT—IL #8: SMETR158
<EZF>
%7 g | &4 FOER g | &4 FOER g | K4 S8R g | &4 SOER g K4 ik |IE (KA FOER
L [FiE B L [FrE B i [frE B L [FrE B i [ Ea 1 |Fr/R B
400m . k2 BIK 54335189 ) kk =2 645323008
BAXRL—| ~ [tFousE—[ho| S5 EEEMN [h3] B
200m . aTCES 25218%038 ) EEE BX 253 24Fh 41 5 INRR R 245330F015 s MEEES 24332%189 5 S 343005039 6 B EF 352137063
B ﬁgétmﬁgsﬁlldﬂz 2 15 {FEMEET b3 BHIE FeEHRE 2| BHIB ﬁéi}mﬁﬁ'iélm 2 15 FPEHTE| D3 EREM [H3
100m . EEE BX 15308F171 ) N S 1514811 5 R EE 15>18%)56 s B 14>25%043 5 FI ek 14329505 6 B ] 14343F)28
INETSA (FSIEETEch3] BHIS {FSIEETE cho| BHIS FRERE 1 BHIS ERER [h2 RsE = 2 1R SR s [ h2
100m . IBFH F07E 19145098 9 FIAR EME 19165067 4 T Bk 1917591 4 EREES 14321F)50 5 B 153245021 6 Eix MW 143247085
HikE FoEEEmhs] BHiS FoEgE=[h2] BH5 FoEgE=[hs] BHi5 FeEE=h3 FBIE TR T2 EEEN [h2
100m ] INEBEE+E 143255001 9 =k KX 193275047 4 BE Bt 14334%114 4 SNBSS 14334F050 5 RS 15375015 6 EH B 143378029
TikE FgEgEmhi] BHIS FoEgE=[h3] BH5 FoEgE=[hs] BH5 EEEN [h3 EEER (2 FREE 3
) BT 29f476 ) B BF 30%094 5 S B 317089 s #BRiIcEE 317092 5 WA B 32017 6 ® ZEE 327023
50m FREgE=h2] BHi5 FoiEgEm|ths] R FgEREh2] BHIE FgEgE=[hs] BH5 tFegmEE 2| B FoEgE—[h] BHp
B . MR EE 32F034 8 TiE 85 32f184 0 XH K 32§85
FeEHRE 1] BHIB Feg=mde] BHIB FRusiER|tho| BB
800m ; A HIE 945334%007 ) INRATE 945353F032 5 TH EE 114>58%085 4 FENEEN 1643 12§50
=15 poaE—[hs] EHiE FompyE[d2| B ERER 3| By {R BT [ ch 2
200m ] A BK 25240%018 ) N A 25244050 5 INRR R 25248079 4 EES 24535107 5 CEIESS 245356Fp44 6 WE R 3501F70
BAARL—| ~ [mygEZzEd1] BHiE {FPIsET || BHIE FPIHIE 2| BHIE FPlsE— (b1 S ERER (53 (Rl | 3
100m ] aTCES 15303027 ) BT 15304033 5 RIF IR 153143004 4 TH EE 153145047 5 A 2N 153 17§034 6 BH EX 143 18%006
B i FeaE =[] B4 FRnE =] EHiE FRIEETE 2| EHS ERER [FH3 (RS EE 2 R =3
400m ; A e 453 44%022 ) INRATE 45348F097 4 BH BE 75>28%099 s ik 21 745334065
Sl poaE—[hs] EHiE FompyE[d2| B poanEE i3] EHiE (RS ITEE ch 2
200m ; B 345220002
NET54 R EM [ho| EHiE
200m . IBFH F07E 25338%035 9 FIAR EME 25340F027 4 RS 25353F038 4 EEREAN 25)57F018 5 R GEIR 24y58%049 6 Eix W 353037072
HikE FoEEEmhs] B FoEgE=[h2] BHIE FoEgE=[hs] BHi5 EEEMN [h3 PR3 EEEN [h2
200m ; I B 253 44F74 ) HE BK 25353063 4 INEBEE+E 245358%098 4 Bk KX 35>08%095 5 EBIRER 34318093 6 BRI A E 353217052
TikE FoEgE—[h2| BHI myEFE[R| BH5 FgEgEmh] BHIS FREE=h3 EEER [h3 EEEN [h2
M2 Bk | 49377098 HRBRICETE | 45407026 [L#f #E3R | 4943751 THiT DEE | 49557066 IEE FOfE | 4959F070 JEE BT | 55037026
400m | EE S ) Tk ik |E= 5 i EE B : BE=AT |EH 5 BE 2L |EE 6 = HE |FEm
JL— m /7 B Hi5 IEREES BEHi5 WE EI B Hi5 kk =& FH 25 EH B
A BRI EEIEEE BE Ex TH ¥2 e BF INEERBE
B EE | 5204%083 R R | 55108029 T Bk | 59147076 TR AT | 55324709 FAR EME | 55317065 JEE BT | 55458064
400m ] N2 BIK |E— 9 KH #K |[EA 3 Tl kKE |£= 4 RABNIRE |EF 5 il BE [F= 6 EH BRE |£m
ARL—1L— A It B 1S e 1215 Bk EE | BHE 1Bk 22 FIl FE MNEBREE
| /7 L #55% EEIEER TH ¥2 | KiIHpE = FME
aria-aa] 1 B= 495 2 E+t 43 3 B— 405 | ER3RIFEIFREERREREENBERESHIS, L 1K1IEEIRKET




